Warm-Up

1. Find the value of x

2. What makes two triangles similar?
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3. What does the following acroynyms mean? 4. make sure you have a whiteboard, dry erase
ASA, SAS, SSS, and AAS marker, and a eraser.
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What is the sum of the
angles of a triangle.
Draw an example.
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ACT/SAT Practice:

4) For all x#0 and y=O0, (2><'3Y4)3= B ﬁx’q y?
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What is Pythagorean Theorem-
When do you use Pythagorean
Theorem?
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What is a perpendicular

bisector? Draw a triangle with

a perpendicular bisector in it.
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7) A right triangle has a leg that
measures 8 cm and its hypotenuse
measures 22 cm. What is the length
of the other leg-» AN YO p
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5) Find m<D.

m< D= A(P3- 5}/0
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8) Given AABC with a perpendicular
bisector AD. CD = 8x - 13 and
DB = 2x + 5. What is the length

of CB~» £
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Unit 1 ~ Geometry *
Objectives: 6.SRT. 2-5 '

_Sime _ Shape, _different Size
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Properties:
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Similar Triangles:
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example 1: Ts AABC ~ ADEF? Why?
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example 3:

The pair of triangles is similar. Solve for x.
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example 2:Is AABC ~ ADEC? Why?
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example 4:
ALMN ~ AQRS. Findthe paimetes of AQRS.
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example 5: Solve for x and y.
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